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Lesson 75 < Area of a Trapezoid
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Find the measure of the angle indicated by the letters.

parallel lines 1 and 2
100°f o0
- /g -1
« J -2 < . d
mza = 80°
msb = 100° msc 30° m/sd = 60°
parallelogram
/120° 7
/
msf = 70° mZh = 60°
msg = 40° mzj = 120° mszk = 45°
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1. 800 11. =3

2. 30% 12. 8

3. 40 13. x=8

4. a=15b=30 14. 3V5

5. trapezoid; 160 m?2 15. 5V2

6. parallelogram; 77 in.? 16. a. 72 %%
7. C b. 0.72

8. x=-23 c. 0.727
9. x=2 17. 300%

10. r=44 18. %or 0.7
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19.
20.
21.

22.
23.
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Course 3

1t 1l A 60miT 60 sec = 22 Tt per sec

yes

a. a=4,b=4
b. AAA

C. Isosceles
d 1.5

2 ft x 1 ft x0.75 ft; 1.5 ft3; 8.5 ft2
57

One possible net:

24.

25. Thisis not an
example of direct
variation because
when one variable is
zero, the other is not.
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